N = 0l & At & Ml A

20139 = 20l& sHUASSUHMSSES A &
M HEAEEAD
M s ZEHE5 AJAY
Hel: sHEASSU NIMS(SHUASSUHMLESSH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
dEIssit 3,115,449 2,849,892 265,557
SEEEs NFAY 3,115,449 2,849,892 265,557
SHEASSU NIFML(SHYUASSUHMEEESAH) 3,115,449 2,849,892 265,557
SHULSEN STHALY 3,115,449 2,849,892 265,557
101 @124l 18,606 12,923 5,683
04 D12t 22 HEE = 18,606 12,923 5,683
O sHYgeASEU N=32el EXR 18,606
- 28 38,2103 » 260 » 1¥ 9,935
- =5 38,2103 = 52 » 1Y 1,987
L EEELES
4,4383 * 50A12t » 128 * 1¥ 2,663
- HE=E 38,210& = 152 = 19H 574
— ZE S 38,2103« 1H «21L +60%+2E 963
- d0= 38,2109 x1H x2602 *3/12 2,484
201 LBt 29,160 29,160 0
01 At 22l 27,060 27,060 0
O 2et==EH| 24,960
— ANYNH 2R SR
100,000& * 100H * 22l 2,000
— ZEH EUIECXN 7Y
200,000& = 100 = 12& 2,400
— SASIFLY(AL)
20,000& = 20=tA + 62 2,400
— SASXFL(A3)
32,0003 = 58t~ « 6 960
~ HeXE SoesE 23
1,200& = 5008 » 2% 1,200
— HEXME S MadF & L2852
200,000& = 80A 16,000
O =&l 7,000 = 2% = 150 2,100
02 =224l 2,100 2,100 0
O SEE ¢8U= 1,750& = 600Y = 23] 2,100
202 44l 12,600 12,600 0
01 = LH 4 1l 12,600 12,600 0
O A2ET ol
50,000& = 3¥ * 7 123 12,600
207 RO 1,000 1,000 0
02 & AR I 1,000 1,000 0
O sHASSUHAYE Z208 74|
1,000,000& = 1CH 1,000
501 X3 3,054,083 2,794,209 259,874
01 2Iz2tsXt= 3,054,083 2,794,209 259,874
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